

(Under the department of Minority Affairs and Madrasah Education, Govt.of West Bengal) IIA/27, New Town, Kolkata - 700160, Phones: (033) 2341 6444, West Bengal, India

4.3.3 Institution has the following Facilities for e-content development and other resource development

Attached below are the scanned copies of Purchase Bills, tender notices and geotagged photos to highlight the above mentioned facilities for e-content development and other resource development.

22 09/05/24

Registrar (Officiating)
Aliah University
New Town, Kolkata-700160

Website: www.aliah.ac.in e-mail: infodesk@aliah.ac.in



Figure 1: Rock Gallery display



Figure 2: Rock Gallery

### **BIOMED INSTRUMENTATION**

HANDALE INSTRUMENT WITH CARE

A SSI Unit: Regd. No. 19017210827 Tied In a specification and entered in Stock ISO-9001-2015

UDYAM-WB-10-0044408 , ZED CERTIFICATION

UNDER MINISTRY OF MICRO SMALLAMEDIUM ENTERPRISES

INVOICE

Customer; ALIAH UNIVERSITY 11A/27 New town Kolkata-700157 Govt. of . W.B.			Date-07-122023 Ref-Memo.no-AU/REG/PO/0103/23-24 DT-23/11/23 Tender no-008/AU/REG/NIQ/23-24 dated-09- 08-23 INVOICE NOBM1/08/GST/2324				
Atte	ention : REGISTRAR	4		A CONTRACTOR			
SI NO	DESCRIPTION OF TENDER ITEM	HS N CO DE	Qly (No's	RATE Basic price	Total Price Without Gst	GST 18% &12%	TOTAL AMOUNT Including Gst
1	Preparation of rock gallery (wooden and glass work): Dimension 10ft.x2 .5ft x4ft (2.5 ft base* + 1.5 ft display) *Front 2 feet 2 inches & Back 2 feet 6inches Note: 5 ft. each detachable part 9 inches x 9 inches box within each display base with 4 inch wooden bar for each rock sample	9 4 0 3	1 No's	30,000/-	30,000/-	5,400/-	35,400/-
2	Talc white (Size 5×7 cm approx)	9 7 0 5	3 no's	350/	1050/-	126/-	1176/-
3	Mica Schist Simultala (Size 6×8 cm approx	"	3 no's	350/-	1050/-	126/-	1176/-
4	Mica Schist Kalimpong (Size 6×8 cm approx)	"	3 no's	350/	1050/-	126/-	1176/-
5	Calcite green xlm (Size 5×7 cm approx	"	3 no's	350/-	1050/-	126/-	1176/-
6	calcite white(Size 5×7 cm approx)	"	3 no's	350/	1050/-	126/-	1176/-
7	Galena small cube pcs [Size 5×7 cm approx	"	3na's	350/-	1050/-	126/-	1176/-
8	Gypsum (Size 5×7 cm approx)	н	3 no's	350/	1050/-	126/-	1176/-
9	Quartz Milky (Size 5×7 cm approx	"	3 no's	350/	1050/-	126/-	1176/-
10	Quartz White (Size 5×7 cm approx	"	3 no's	350/	1050/-	126/-	1176/-
11	Quartz Crystal (Size 5×7 cm approx	"	3 no's	350/-	1050/-	126/-	1176/-
12	Quartz Smoky (Size 5×7 cm approx	"	3 no's	350/-		126/-	1176/-
13	Granite Grey (Size 6×8 cm approx	"	3 no's	350/-	1050/-	126/-	1456/-
14	Granite White (Size 6×8 cm approx	"	4 no's	325/	1050/-	126/-	1176/-
15	Basalt f.g.  Size 6×8 cm approx		3 no's	350/-	1050/-	126/-	1176/-
16	Dolerite (Asansol) (Size 6×8 cm approx	"	3 no's	330/-	10307	7.9	er 10/1

BIOMED INSTRUMENTATION

Checked & Verified B/38, Katjunagar, Kolkata-700032, Fax: 033 2499 4134

Sign Mobile: 09830683936, 09831183936, E-mail: marketting bmi@yahoo.cc.incol

(Store Keeper)

Date... 241124

Date 28/1/24

### **BIOMED INSTRUMENTATION**

#### HANDALE INSTRUMENT WITH CARE

A SSI Unit: Regd. No. 190172108277

ISO-9001-2015

	OTAL GST- 18% AND 12% rand total inclusive GST OF RS;-						67,824/-
	tal Basic price withOut GST					RS;	58950/-
28	Laterite (Size 6×8 cm approx	"	3 no s	350/-	1050/	126/-	1176/
27	Marble white c.g. (Size 6×8 cm approx)	"	3 no's	350/-	1050/-	126/-	1176/-
26	Quatzite white (Size 6×8 cm approx)	"	4 no's	350/-	1400/-	168/-	1568/
25	Quartzite Grey (Size 6×8 cm approx)		3 no's	350/-	1050/-	126/-	1176/-
24	Gneiss Bengal (Size 6×8 cm approx	W.	3 no's	350/-	1050/-	126/	1176/-
23	Phyllite (Size 6×8 cm approx	"	3 no's	350/-	1050/-	126/-	1176/-
22	Slate Kangra (Size 6×8 cm approx)	"	3 no's	350/-	1050/-	126/-	1176/
1	Conglomerate (Size 6×8 cm approx	n	3 no's	350/-	1050/-	126/-	1176/-
0	Sandstone (Size 6×8 cm approx	ü	3 no's	350/-	1050/-	126/-	1176/-
9	Shale with Fossil Barakar (Size 6×8 cm approx	*	3 no's	350/-	1050/-	126/-	1176/-
8	Limestone Crystalline (Size 6×8 cm approx	v	3 no's	350/-	1050/-	126/-	1176/-
7	Limestone black (Chaibasa) (Size 6×8 cm approx	•	3 no's	350/-	1050/-	126/-	1176/-

HSN CODE	GST C-			S-GST		TOTAL
	18%	Rate	Value	Rate	Value	
9403	5400/-	9%	2700/-	9%	2700/-	5400/
9705—12%	3474/-	6%	1737/-	6%	1737/-	3474/-
TOTAL GST-					RS-	8874/-

(Total GST RS;- EIGHT THOUSAND EIGHT HUNDRED SEVENTY FOUR ONLY)

Pan—AIDPD9583G
Email--- marketting bmi@yahoo.co.in
GST NO—19AIDPD9583G2 ZY
Bank—UCO BANK, Golf green,Kol-700032
Account no-CC-17870500008843
IFS Code-UCBA000178
MOBIL NO-9830683936

Biomed Instrumentation
Biomed Instrumentation

Proprietor

Authorised Signatory

dept. har in growth and and all items in growth and want of the and he browned so the browned so

Checked & Verified
Sign (Store Keeper)

Date 20112M

### BIOMED INSTRUMENTATION

B/38, Katjunagar, Kotkata 700032, Fax: 033 2499 4134

Mobile: 09830683936, 09831183936, E-mail: marketting bmi@yahos.co.in

Head Office Control of the Control o

Give the of the total condition of the total total condition of the total total condition of the total total



# Aliah University

(Under the department of Minority Affairs and Madrasah Education, Govt.of West Bengal) IIA/27, New Town, Kolkata - 700160, Phones: (033) 2341 6444, West Bengal, India

Memo No-AU/REG/PO/0.10.3./2023-24

Date: 23.1.11.12023

To
The Proprietor,
M/s Biomed Instrumentation
B/38, Katjunagar,
Kolkata-700 032

Ph+ 9830683936/ 9831183936 Email- marketting\_bmi@yahoo.co.in

Sub: Work order for preparation of Rock Gallery (wooden and glass work) and supply of rocks & minerals samples for the Department of Geography at Park Circus Campus of Aliah University against our NIQ notice no. 008/AU/REG/NIQ/23-24 dated: 09/08/2023.

In response to his quotation dated 25-08-2023 against Tender Notice (008/AU/REG/NIQ/23-24 dated: 09/08/2023) for preparation of Rock Gallery (wooden and glass work) for the Department of Geography at Park Circus Campus of Aliah University has been accepted by us, hence he is requested to supply the under noted items and complete the work as per description mentioned in their quotation on an urgent basis in the Department of Geography at Park Circus Campus of Aliah University i.e. 17, Gora Chand Road, Kolkata – 700 014, Details are given below:

Sl. No.	Description of item/s	Qty. (Nos.) as per NIQ	Per unit Rate in (Rs.)	Total Amount in (Rs.)
01	Preparation of rock gallery (wooden and glass work) Dimension 10ft.x2.5ft x4ft (2.5 ft base* + 1.5 ft display) *Front 2 feet 2 inches & Back 2 feet 6 inches  Note: 5 ft. each detachable part 9 inches x 9 inches box within each display base with % inch wooden bar for each rock sample	1 (One)	30,000.00	30,000.00
02	Talc white (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
03	Mica Schist Simultala (Size 6×8 cm approx)	3 (Three)	350.00	1,050.00
04	Mica Schist Kalimpong (Size 6×8 cm approx)	3 (Three)	350.00	1,050.00
05	Calcite green xlm (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
06	Calcite white(Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
07	Galena small cube pcs (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
08	Gypsum (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
09	Quartz Milky (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
10	Quartz White (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
11	Quartz Crystal (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00
12	Quartz Smoky (Size 5×7 cm approx)	3 (Three)	350.00	1,050.00

Continue ... P/2



## Aliah University

(Under the Department of Minority Affairs and Madrasah Education, Govt. of West Bengal)

IIA/27, New Town, Kolkata – 160, West Bengal

[2]

Total Amount in (Rs.) Rounded off				
Add: Taxes such as GST@ 18% for SI No. 1& 12% for rest items etc. as applicable				
Basic Value in Rs.				
28	Laterite (Size 6×8 cm approx)	3 (Three)	350.00	1,050.00
27	Marble white e.g. (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
26	Quatzite white (Size 6×8 cm approx)	4 (Four)	350.00	1,400.0
25	Quartzite Grey (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
24	Gneiss Bengal (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
23	Phyllite (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
22	Slate Kangra (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
21	Conglomerate (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
20	Sandstone (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
19	Shale with Fossil Barakar (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
18	Limestone Crystalline (Size 6×8 cm approx)	3 (Three) 3 (Three) 3 (Three)	350.00 350.00 350.00	1,050.0 1,050.0 1,050.0
17	Limestone black (Chaibasa) (Size 6.8 cm approx)			
16	Dolente (Asansol) (Size 6×8 cm approx)			
15	Basalt f.g. (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0
14	Granite White (Size 6×8 cm approx)	4 (Four)	325.00	1,300.0
13	Granite Grey (Size 6×8 cm approx)	3 (Three)	350.00	1,050.0

Total value of this work order is Rs. 67,824/- (Rupecs Sixty Seven Thousand Eight Hundred and Twenty Four only) inclusive of all taxes & duties.

#### Terms & Conditions:-

- Rates: Rates are inclusive of all taxes and the prices are also inclusive of all e.g. packing & forwarding, transportation, insurance, loading, delivery, unloading, fitting, fixing, installation, testing, commissioning at our site.
- Delivery: The delivery of the items and completion of the above work must be made within two (02) weeks from the date of receipt of this letter; otherwise order will be treated as cancelled without any further correspondence. All aspects of safe delivery shall be the exclusive responsibility of the supplier.
- Payment Terms: 100% payment will be released on completion of work duly certified by the concern authority and immediately on receipt of payment from the Govt. Department (within 60 days from the submission of bills).
- 4. Liquidated Damage: If a firm accepts an order and fails to execute the order in full as per the terms and conditions stipulated therein, it will be open to this institute to recover liquidated damages from the firm at the rate of 1% per week or part thereof of the order value subject to a maximum of 10% of the order value. It will also be open to this institute alternatively, to arrange procurement of the required item or to complete the work from any other source at the risk and expense of the firm, which accepted the order but failed to execute the same according to stipulated agreed upon.

Phones: (033) 2367 1434/1435, (033) 2706 2269/2271 Fax: 91 33 4006 2565/2534; 2367 1433

Main Campus: 21, Haji Md. Mohsin Square, Kolkata-700016, Telefax: (033) 2249 1986

Website: www.aliah.ac.in e-mail: infodesk@aliah.ac.in